GC series Guide Cylinder (Heavy load type)

Product features

CHELIC.

Q Internal structure

|

[+ ]
&

7
L1

© Specification

QO Standard stroke

Unit : mm Unit : mm

Item Bore size mm | GC-20 | GC-25 | GC-32 | GC-40 [ [ Bore siz Standard stroke
Action Double acting GC[- 20 | 75,100, 125, 150, 200, 250, 300, 400, 500
luid Al GC- 25 | 75, 100, 125, 150, 200, 250, 300, 400, 500
Pressure range kgffem?(kPa) 1.5~7(150~700) GCJ- 32 | 75,100, 125, 150, 200, 250, 300, 400, 500
At T 0~60 GCLI- 40 | 75,100, 125, 150, 200, 250, 300, 400, 500
Piston speed mm/s 50 ~ 1000
Shock absorb i

Cushion ock absorbers Option
Air cushion Option

) Push (Note) 3.1xP | 4.9xP | 8.0xP | 12.5xP )

Theoretical force <« Note: “P” indicates air pressure kgf/cm?
Pull (Note) 2.6xP 4.1xP 6.9xP | 10.5xP

Lubrication Lubrication free type

Port size PT 1/8

Sensing device With magnet

© Code of order

C ec ) B H(C32 (200 )-C F ) sd H)(C20s YC 2 H-( Az )
l Model ] l Guide type ] l Bore size] l Stroke ] ‘With flange‘ ‘Sensor switch‘ Mounting Quantity of Cushion
‘ ‘ ‘ ‘ ‘ bracket sensor/ bracket
T
20-020 mm| |@20-75-500mm| | | [ModenCylinder
25-025 mm| | @25-75-500mm | |l e /‘ 20s | g20 || 1:1 PC
[} 1y
32-@32 mm @32-75~500 mm ) 258 @25 2:2 PCS
9 CSs-9D
(5] 40- @40 mm @40-75~500 mm [F] Magnetictype’gT:, 2(2)2 gié
GC: B: Bush guide None: Standard None: [[CJ: With air cushion
Imn'gllide cylinder | Without sensor switch |
: With front flange plate
Al2
u: : Shock absorbers
Linear bearing guide [2 ]: Shock absorbor quanity
& Caution 1 =1 pc shock absorber assembly and size

© None: No air cushion c-' 2 =2 pcs shock absorber assembly and size

6-11.38



GC series Guide Cylinder (Heavy load type)

Product features CHELIC.
© Max. allowable load and deflection <
Load [W] 5
¢ ©
2
)
[ @ @ | I =}
| 1
Q Teflon guide
© GCB - 20 © GCB-25 © GCB - 32 © GCB - 40
4.0 EISIE 4.0 500RST 4.0 Gy S 4.0 G S
32 32 32 32
AA 0 AA 0 \5 0 \5 0
24 24 24 24
\ \ \ \
16 A 16 A A 16 Pt N Bl T e e e
< 08 /’:’+ﬁ7" < 08 /’:’+ﬁ7" x 08 == \J"‘”\ 100 = 0.8 = \J"‘”\ 4
0 4 8 12 16 20 0 4 8 12 16 20 0 5 10 15 20 25 0 5 10 15 20 25
W: Load (Kgf) W: Load (Kgf) W : Load(Kgf) W: Load (Kgf)
Q Linear bearing guide
© GCU - 20 © GCU -25 © GCU - 32 © GCU - 40
20 i 20 I T T
‘ ‘ 24 Il("l ST. 24 n("l ST.
16 e 16 S \ 1 \ 1
12 \ } 12 \ 16 \e 16 \ao
A A 400 400
08 08
\ \
- e _ e _08 _ 08
E 0.4 TN 0 E 0.4 //»\" E N2 E [N 2ot
< ] | = 1 | = N = N
EERSRT x WER =T < Fise < Fri s
o 1 2 3 4 5 o 1 2 3 4 5 o 2 4 6 8 10 o 2 4 6 8 10
W: Load (Kgf) W: Load (Kgf) W: Load (Kgf) W: Load (Kgf)

o Pushing out stroke adjustment
Loosen hexagonal socket bolt at two sides,
move rear slide unit to position of required stroke.
(To be adjusted within the maximum stroke range).
Then tighten the bolts.

© Mounting hole

For precise locking plate changing or locking purpose.

o Lubricant/ Grease filler point
Seals are installed at two sides of guide rod.
( Pressure-proof and leakage-proof device).
Shaft is lubricated inside between bearing and guide rod.

© Shock absorber device
Shock absorber- It is a device on two sides of body.

(The function will not be affected while adjusting theslide block.)

Pneumatic cushion- It is a device on the cylinder.
(Work as piston reaching both maximum end.
The function will be affected while adjusting the slide block).

6-11.39

TB(U)2

TA(R)

TSB(U)2

TXB(U)2

TMB(U)

GCB(U)

GHB(U)

TCR

TCF



GC series Guide Cylinder

Mounted type

CHELIC.

© Body mounted type (Reference)

© Side mounting type

© Top mounting type

2 s, ° T
TH == L
Bﬁ @ &
R
o & B @_|
L & & e —

[Tk
i=is

© Vertical mounting (with front flange plate) type

2
9 2
© Bottom mounting type
o 9 -

<

Lﬁ@@mﬁu

==

© Vertical mounted type (Reference)

o Front flange dimension

o Front flange plate
(dimension reference)

E——0
:L‘ 3 N 3 ¢:| E
IE & & - w
et oF o)
= in E
e V ==t
s

]

(“:\““““-”}V

< |

Size
Model A B (o] D E F G J K L M N P
GC -©220(25) | 128 | 88 | 144 | 104 | 35 60 | 124 | 10
GC -932(40) | 168 | 110 | 184 | 126 | 445 | 78 164 12

9 | 130 | 72 | M8 | 49 il
____________ _f_/
9 | 170 | 90 | M8 | 605 AN M

6-11.40



GCB(U) series Guide Cylinder

Dimensions CHELIC.
©C GCB(U) 920 x [ GCB(U) 20x ST
4-M6x1.0P dp 12 15 29 90 25 + Stroke 15
8-M6x1.0P 75 10 70 2-PT1/8 2- M6x1.0P dp 10

‘ ‘ Port connection

0

45

76
100
110

18

216 (GCB20)

@

18
[A.6
$ 9
124
110
0
6
us|
iH
212 (GCU20)

EmEmN

18 |18 45 3 Shock absorber
35 2-26" x 6 dp 59 + Stroke ‘ (Option)

Mounting hole ‘ 174 + Stroke ~_ 4-26.8 Thru hole, Counterbore @11 dp 6.5
(Both sides) Thread two sides M8x1.25P dp 20

45

5
B

@
N
$
&>
&

45 Grease filler
(Both sides)
1 ) TB(U)2
g 3 o E}_“?O S
T <
R s imasl g ®
— A S ‘ TA(R)
4- M8x1.25P dp 20 25 40 | 7.5
(Both sides) 15
TSB(U)2
O GCB(U) @25 x [ | ®)
(Q) ccB(U) 25x ST
) TXB(U)2
4-M6x1.0P dp 12 15 35 90 25 + Stroke 15
8- M6x1.0P 75 10 70 2-PT 1/8 2-M6%1.0P dp 10
‘ ‘ Port connection
— 5 — {;7
T
9 :EE 7% SigH TMB(U)
2 Ve 3 2 g o -fE EA\ a8 o gl e fﬁﬂ
= & R/ % PI- 0| ~ 2 LLJ
o P P Q:Q ;#_‘ 1 % § —
<
@} 9 N GCB(U)
3| —
Q &
18 |18 45 »% Shock absorber GHB(U)
35 2- 26" x 6 dp 64 + Stroke ‘ (Option)
Mounting hole ‘ 180 + Stroke > 4- 6.8 Thru hole, Counterbore @11 dp 6.5

(Both sides) Thread two sides M8x1.25P dp 20

45 Grease filler
(Both sides)

o < @ @ F;‘ I N TCR
N oo 7 N,

o

<t

0| i_F
g 8 o = Hh g &
L A = | TCF
4- M8x1.25P dp 20 25 40 = 7.5
(Both sides)
15

6-11.41



GCB(U) series Guide Cylinder

Dimensions

CHELIC.

O GCB(U) 932 x [

8—-M8x1.25P

60

60

25|25

@

24

44.5

4-M8x1.25P dp 15 15 35 110 25 + Stroke 15
75 12 80 2-PT1/8 2-M8x1.25P dp 15
‘ Port connection
— N [
A B
-
38 s B 5 &1- 3|3 g8 3
© g
=S [
u [STES]
@ N
> ]
©
)
55 * Shock absorber
2-26""x 6 dp 72 + Stroke (Option)

Mounting hole
(Both sides)

200 + Stroke

GCB(U) 32x I ST

5
E

4-@8.5 Thru hole, Counterbore @14 dp 9

Thread two sides M10x1.25P dp 15

55 Grease filler
(Both sides)
[fe} 8
o 8 8 2 7 = - i) 3
3
o of g A =)
35 ° B = = o ¥
4-M10x1.5P dp 20 30 50 0 75
(Both sides) A
15
O GCB(U) @40 x [
GCB(U) 40 x I ST
4-M8x1.25Pdp15 15 40 110 25+Stroke 15
8- M8x1.25P 75 12 80 2-PT1/8 2-M8x1.25P dp 15
‘ Port connection
N 1 I
i @ g
3 . Y ® & slaH W
& D\ m
: 288 s -Boefle 3882883 S
N = J
: ] = 58] P
O
e +
®
)
24 |24 55 % Shock absorber
445 2-26""x 6 dp 72 + Stroke (Option)

Mounting hole
(Both sides)

205 + Stroke

4-@8.5 Thru hole, Counterbore @14 dp 9

Thread two sides M10x1.25P dp 15

55 Grease filler
(Both sides)
[fe} &
o 8 8 2 7 = - Y 3
83

v ol 8 a— T <
3 5 ° B }} = o ¥
4-M10x1.5P dp 20 30 50 0 75

(Both sides)

6-11.42






